K 420-31 - K 420-88
AR EE HANSAVFLEX

_}:3

£01 KEINRE, B AT
BHEX 1 4R

#£02 KEISIRLL, B AT

BHEX 2 hEHgl
gges BEAREE
-2 2F [=BE]

¥ M
RERP BERE

3
= J d2 G1 G2 i i SwW
(mm) (mm)
K 420-76 6 M12x15 M16x15 10 12 28 22
K 420-77 6 M12x1.5 M22x1.5 10 12 28 27
K 420-78 8 M14x1.5 M16x1.5 10 12 28 22
K 420-79 8 M14x1.5 M22x1.5 10 12 28 27
K 420-80 10 M16x1.5 M22x1.5 11 12 29 27
K 420-81 12 M18x1.5 M22x1.5 11 12 29 27
K 420-88 10 M16x1.5 M16x1.5 11 12 29 22
SW = 3} R1i BT EE
FREE

K 42-02 - K 42-106 BEARIRRIESRE, HHIR IR AR
K 41-14 - K 41-40 ggﬁﬁﬁﬁﬁﬁwmﬁﬁﬁﬂ‘WQ%‘%E%ﬂ%
K 46-12-1 /| K46-12-2 A ONEAREE,

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
15.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



